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A. NaHSO, Ba( OH) ,
B. NH,Cl Ca( OH) ,
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( NaHSO,.KHSO,)
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A H' + S0 + Ba’" + OH —

BaSO, | + H,O  2H" + SO;” + Ba’" + 20H"
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2NH3( g) ‘:\Nz( g) +3Hz( g)

. (1) (p)
“ 1,
7 N N N 1
o t/min 0 1 2 3 4 5
“ 7 o 100 kPa( o) 5 56 64 68 7 7
“ i 4 min
(1) : N N ( N a
) o 2NH, =N, + 3H, An
(2) : 2 1 302
/mol a 0.5a 1.5a a
N /mol 1-a 0.5a 1.5a
o 5/7=1/(1+a) a =0.4 mol
1 2 L 1 mol NH, 40% »
> ) A o B Fe’* \Fe'* o
AgCl (1) 2 mL FeCl,
AgCl AgCl 1 KSCN cl,
B . C Fe’” . FeCl,
; (2) H,O0,
( FeCl,
. ); -
( Na,SO, (1) cl,
N Fe’* Fe'* Cl, Cl™
. ) C .
D 2Fe’* +Cl, ==2Fe’* +2C1 .
D . C. (2) H,0, Fe*
Fe'* H,0
o H,0, +2Fe’" +2H"===2F¢'" +2H,0
o (1) 2Fe’" + Cl, ==2Fe’" +2Cl~;
> (2) H,0, +2Fe’* +2H"==2F¢’* +2H,0.
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